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flzIX, copperxiaIl—rvaryisbt

CS= crystalSymmetry('cubic')
SS = specimenSymmetry('1') /ltriclinic
copper= orientation.byMiller([1 1 2],[-1 -1 1],CS,SS)
psi = vonMisesFisherKernel (HALFWIDTH',5*degree)
odf=unimodalODF(copper,psi)
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[value,oril=max(odf, numLocal',5)
value = 512.4413 512.3739
ori = orientation (m-3m -> xyz)
size: 1 x 2
Bunge Euler angles in degree
phil Phi phi2 Inv.
90.028 35.2488 225.013 0
90.0159 35.3289 224.939 0
volume(odf,copper,15*degree)

ans = 0.9939
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SS = specimenSymmetry('orthorhombic')
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XRDHIET—#1bvolume ZRKD5D,

>> import_wizard

>> ortho

SS = specimenSymmetry (' 1)

—>8S = specimenSymmetry (" orthorhombic’)

>> SS = specimenSymmetry('orthorhombic')
#H L SS Tpf #5tH

>> pf = PoleFigure.load(fname,h,CS,SS, interface’,'xrd");

>> odf=c

alcODF(pf)
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copper= orientation.byMiller([1 1 2],[-1 -1 1],CS,SS)

>> [value,ori]=max(odf, numLocal’,5)

158.8513

progress

ans =

Orthorhombic TXRDDOEBESRERDLND,

value =

86.9210

0.1048

ori = orientation (Aluminum -> xyz (mmm))

size:1x5

Bunge Euler angles in degree
phi2
90.0612 36.1843 225.058
139.98 60.3467 244.524
163.354 47.5175 203.894
140.808 19.3372 206.489
161 25.9808 161.513

>> volume(odf,copper,15*degree)

phil

$100%
0.9489

Phi

Inv.

0

0.0699

0.0218
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>> [value,ori]=max(odf, numLocal',5)
value = 158.8513 86.9210 0.1048 0.0699 0.0218
ori = orientation (Aluminum -> xyz (mmm))
size: 1x 5
Bunge Euler angles in degree
phil  Phi phi2 Inv.

90.0612 36.1843 225.058 0

139.98 60.346'A\244.524 0
163.354 47.5175 0
140.808 19.3372 206\489 0

161 25.9808 161.5
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Miller Indices

(hk[uvw] 1 ~ |1
PoleFigure & ODF & Inverse

« (1 « | TD:[1-10] Cale

FWHM |5 dee Gratio (1.0 0) Polefieure (001~ | () Other [1.2.3

FF COrthoPF cale0DF )
phil Phi

Euler fingle 80.0612 36.1543 225 055

(p1 Pp2)<=90 |90.0 35.2644 45.0 ;

Present Condition
Euler Anele

90.0612 361843 225058
Double Miller Indices
04179 0417 08071 0.5721 0.5694 05904

v I Digp

DISP
Position 10 | Disp size 400 . Dok
BGcolor  Black ~| Line size 2.0 v Mirus

Makefileholder
Haolder CHCTREWD RE#MNewCubicCO Dizp

phil Phi  phi2
90.0612 36.1843 225.058 | 2 A /. c a | ¢ — >toOrthorhombic
(p1Pp2)==90 ».590. 0, 35. 36, 45. 0—> (112) [—1—11]

copper= orientation.byMiller([1 1 2],[-1 -1 1],CS,SS)
B DN
copper=orientation.byEuler(90.0*degree,35.26*degree,45.0*degree,CS,SS)
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&l CrystalOrientationDisp 2.14 by CTR PDuser CTR CTR = O X
File Help Symmetry Special Index random dispfile

- Material
Material Cubic Aluminum
1.0 1.0 1.0 90.0 90.0 90.0

- Miller Indices

(hklluww] 4 3 |2 <l g ~la I3 o Calc
Euler fngle
(p1Pp2)<=00 [27.0310 576885 18.4340 el
r Prezent Condition

r Euler fingle

r Double Miller Indices

| |

- DISP

Position | 10 ~| Disp size 400 v Bl

BG color Black ~ | Line size 20 w Minus

Ok Return Structure

- Polefigure
FWHM |10 'degree Polefigure 111 | Orthorhombic Disp
Gratio 1.0 Step 5 | degree Disp2 PFRotation

@ Lorentzcut{Max/20) Box : Gratio=2

Holder CACTRworkiMewCubicCODisp

orthorhombicZtriclinic THIZITOLESH MOV lumeldl 412720 F7,
brass. copper HNEl, /2



Orhorhombicy—#%importLE#%
SS = specimenSymmetry('orthorhombic')

pf = PoleFigure. load (fname, h, CS, SS, " interface’, xrd ) ;
odf=cal cODF (pf)
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>> [value,ori]=max(odf,numLocal',5)
value= 64.0962 36.1868 24.5402 8.9308 9.2960
ori = orientation (Aluminum -> xyz (mmm))
size:1x5 _ .
Miller Indices

Bunge Euler angles in degree (kuw] (4 o[> oz < g <z <la -

phil Phi phi2 Inv.
121.181 36.5843 206.618 0 (IR / ‘\
146.455 52.6741 255.665 0 iy tCDnditinn//-/"
Ler AR
76.7706 36.0198 317.236 0 T TESTOE TR
74.491 30.7637 318.827 0

Double Miller Indices
-0.267 -0.5328 0.803 07707 0.3822 0.5099

> s=orientation.byMiller([1 2 3],[6 3 -4],CS,SS)
volume(odf,s,15*degree)

progress: 100%

ans= 0.9175
TriclinicTiE

SS = specimenSymmetry('1) ¢ ODF fi##T

>> volume(odf,s,15*degree)

0.2269

ans =

Calc

Calc



Orthorhombicoy—#%%Triclinic T
[value,oril=max(odf, mumLocal',5)
progress: 100%
value= 59.7539 59.7522 59.3696  59.3607 9.1131
ori = orientation (m-3m -> xyz)
size:1x 5
Bunge Euler angles in degree
phil Phi phi2 Inwv.

58.6023 36.6043 333.523 0
121.497 36.5846 206.352 0
238.658 36.6247 153.619 0
301.501 36.6064 26.3356 0
74.491 30.7637 318.827 0
EFeT— 455 mtexeulertohkl ¥ 7 h =7 Te u |l e r —>hkl —fEZEH#)3 A 5E
58.98 36.699 333.435 (-123)[6-34]
58.98 36.699 153.435 (-1-23)6 3 4]
238.98 36.699 153.435 (1-23)[6 -3 -4]
301.02 36.699 26.565 (12 3)[63-4]
73.221 25.239 315.0 (-113I[2-11]

ori0=orientation.byMiller([-1 2 3],[6 -3 4],CS,SS)
volume(odf,ori0,15*degree)
oril=orientation.byMiller([-1 -2 3],[6 3 4],CS,SS)
volume(odf,oril,15*degree)
ori2=orientation.byMiller([1 -2 3],[6 -3 -4],CS,SS)
volume(odf,ori2,15*degree)
ori3=orientation.byMiller([1 2 3],[6 3 -4],CS,SS)

volume(odf,ori3,15*degree)

ori0 = orientation (m-3m -> xyz)
Bunge Euler angles in degree
phil Phi phi2 Inv.
238.98 36.6992 333.435 0
ans = 0.2260
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